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Enrollment No: Exam Seat No:

C.U. SHAH UNIVERSITY

Summer Examination-2018

Subject Name: Transportation Engineering
Subject Code: 2TEO4TREL Branch: Diploma (Civil)
Semester: 4 Date: 03/05/2018 Time: 10:30 To 01:30 Marks: 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions:
a)  The rate of rise or fall of the road surface along its length is called
(A) Gradient (B) Camber (C) Super elevation (D) Banking
b)  The minimum length of overtaking zone in terms of OSD as per IRC is
(A)3*0OSD (B) OSD (C)2*0sD (D)5 *0SD
c)  Mud pumping is a failure of
(A) Flexible pavement (B) Rigid pavement (C) Semi rigid pavement (D) all the above
d)  The drain constructed on up slope of hill sides are known as
(A) Cross drain (B) Side drain (C) Catch water drain (D) None of the above
e)  Inearthen roads, the common stabilizer used is

(A) Cement (B) Lime (C) Bitumen (D) All the above

f) Colors used for carriage way markings are
(A) White (B) Yellow (C) Black (D) Green
g)  Wave like formation on the roads are called
(A) Pot holes (B) Zigzag forms (C) Wavy defects (D) Corrugation

h)  Increase in water level at the bridge site due to obstruction to the flow is called
(A) Free board (B) Afflux (C) Scour (D) HFL
i) Special maintenance of bridge is carried out once in
(A) 3to 6 months (B) 1to 2 years (C) 2 to 4 years (D) 3to 5 years
j) For a bridge deck the most economical section shall be
(A) A double T-section (B) Box section (C) An I-section (D) A channel section
k)  Forabridge, | = clear span, n = number of span and b = width of pier, then length of bridge is
(A) L =n*I +(n+1)b (B) L =n*l +(n-1)b (C) L=n*l (D) L=n*I+nb
)} Hump yard is a type of
(A) Passenger yard (B) Marshalling yard (C) Goods yard (D) Retarder
m)  On Indian Railways, standard length of rails for BG track is
(A)12.80m (B) 11.89 m (C) 10.97 m (D) 10.06 m
n)  Now a day, the rail section on Indian railways is
(A) Double headed (B) Bull headed (C) Dumb bell type (D) Flat footed

Attempt any four questions from Q-2 to Q-8
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b)

Write requirement of good road alignment. (5)

Draw cross section of road in embankment and label its components. 4)
Write types of maintenance in railway track. Explain any one (5)
Attempt all questions (14)
Explain factors affecting road alignment. 4)
A vehicle is passing on 110m radius curve with 55 kmph speed. Calculate super elevation. 4)
Take friction factor = 0.15

State the types of yards. Explain functions of goods yards and marshalling yards. (6)
Attempt all questions (14)
Write requirement of good drainage for roads. 4)
Enlist test on bitumen and explain any one. (5)
Draw the neat sketch of railway permanent way as per IRS (single track B.G.) (5)
Attempt all questions (14)
Enlist subsurface drainage methods for roads. 4)
State methods for soil stabilization and Explain cement stabilization in brief. (5)
Write various defects in bridges and its remedies. (5)
Attempt all questions (14)

Name the different types of road signs. Draw any one with sketch of road signs, with proper (6)
labeling.

Explain (1) Neoprene bearing (2) Rocker-roller bearing. 4)
Explain the importance of Bridge. 4)
Attempt all questions (14)
Enlist deficiency in flexible pavement. Explain any two. (5)
Calculate Stopping Sight distance for design speed of 60kmph for two lane two-way traffic. 4)
Take friction factor = 0.35 and reaction time 2.5 sec.

Write classification of bridges. (5)
Attempt all questions (14)
Write the points considered for selection of bridge site. 4)
State the components of railway track and explain functions of ballast in detail. (5)
Differentiate between Flexible pavement and Rigid pavement. (5)
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